PARTS LIST

ITEM| QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 6 X-LWRM RING MOUNT WELDMENT 68.81 412.85
2 66 G58LW 5/8" HDG LOCKWASHER 0.03 1.72
3 60 A58NUT 5/8" HDG A325 HEX NUT 0.13 7.79
4 18 G58R-24 5/8" x 24" THREADED ROD (HDG.) 2.09 37.63
5 18 G58R-48 5/8" x 48" THREADED ROD (HDG.) 4.18 75.27
6 24 A58234 5/8" x 2-3/4" HDG A325 HEX BOLT 23/4in 0.36 8.54
7 24 AS58FW 5/8" HDG A325 FLATWASHER 0.03 0.82
8 36 X-UB1306 1/2" X 3-5/8" X 6" X 3" U-BOLT (HDG.) 0.83 29.82
9 | 264 G12FW 1/2" HDG USS FLATWASHER 3/32in 0.03 9.00

G12LW 1/2" HDG LOCKWASHER 1/8 in 0.01 3.50
G12NUT 1/2" HDG HEAVY 2H HEX NUT 0.07 18.05
P3096 2-7/8" X 96" (2-1/2" SCH 40) GALVANIZED PIPE 96 in 49.24 590.88
X-UB1300 1/2" X 3" X 6" X 2" U-BOLT (HDG.) 0.70 33.45
P3150 3-1/2" X 150" (3" SCH 40) GALVANIZED PIPE 150 in 94.80 284.40
X-SV196 LOW PROFILE PLATFORM CORNER 212.10 636.31
P2150 2-3/8" 0.D. X 150" SCH 40 GALVANIZED PIPE 150 in 45.77 137.31
SCX2 CROSSOVER PLATE 7in 4.80 57.56
X-UB1212 1/2" X 2-1/2" X 4-1/2" X 2" U-BOLT (HDG.) 0.63 22.51
SCX4 CROSSOVER PLATE 81/2in 6.02 90.32
G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 0.78
X-2563993 PLATFORM REINFORCEMENT KIT ANGLE 52 25/32in 14.33 85.99
X-TBW T-BRACKET WELDMENT 13.60 81.60
G5802 5/8" x 2" HDG HEX BOLT GRS 0.27 1.62
G12065 1/2" x 6-1/2" HDG HEX BOLT GR5 FULL THREAD 51/2in 0.41 4.91
X-AHCP ANGLE HANDRAIL CORNER PLATE 12.92 38.76

TOTAL WT. # 2669.03

DETAIL C

X2
DETAIL B
X2
DETAIL A DETAIL D
TOLERANCE NOTES DESCRIPTION o Y
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 12 6 LOW PROFILE PLATFORM ] Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.030") WITH TWELVE 2-7/8" ANTENNA MOUNTING SupportTeam:  Los Angeles, CA
DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES PIPES, AND SUPPORT RAIL : 1-888-753-7446  Plymouth, IN
LASER CUT EDGES AND HOLES (# 0.070% - NO CONING OF HOLES A valmont Y® COMMNY Dallas, TX
BENDS ARE i 1/2 DEGREE
C oo U oS | el . e -
- - ALL OTHER ASSEMBLY (2 0.0607) - -
A_|REPLACED HCP WITH X-AHCP 4488 | CEK| 7/14/2014 f ) CLA‘::SS;UB DCREAV'ENG U::;/\ g:’ 2014 A — R RMQP-4096-HK Q32
REV DESCRIPTION OF REVISIONS CPD | BY [ DATE | meoatanorec THIS DRAWING OF VALMONT o m
REVISION HISTORY INDUSTRIES AND CONSIDERED A TRADE SECAET. ANY wiTHoUT or | 81|02 CUSTOMER |BMC 7/14/2014 RMQP-4096-HK «




Y2

Y2

12" TO 38"
POLE DIAMETER

MAX. 12"

U TRIM OR OFFEST AS REQUIRED.

12'-6"

=i o

TOLERANCE NOTES

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (* 0.030")

DRILLED AND GAS CUT HOLES (% 0.0307) - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES
BENDS ARE * 1/2 DEGREE

DESCRIPTION

12' 6" LOW PROFILE PLATFORM

WITH TWELVE 2-7/8" ANTENNA MOUNTING
PIPES, AND SUPPORT RAIL

Engineering
Support Team:

1-888-753-7446
A valmont WP oMy

Locations:

New York, NY
Atlanta, GA

Los Angeles, CA

Plymouth, IN
Salem, OR
Dallas, TX

T S | scamans e S
x - ALL OTHER ASSEMBLY (% 0.060") - -
A_|REPLACED HCP WITH X-AHCP 4488 | CEK| 7/14/2014 f 4 CLA‘::S?UB SREAV':NG U::gglzom R s RMQP-4096-HK 9z
REV DESCRIPTION OF REVISIONS CPD | BY DATE THE DATA AND TECH THIS DRAWING OF VALMONT T m
REVISION HISTORY INDUSTRIES AND CONSIDERED A TRADE SECAET. ANY wiTHoUT or | 81|02 CUSTOMER |BMC 7/14/2014 RMQP-4096-HK «




DETAIL F \@

TOLERANCE NOTES

DESCRIPTION

12' 6" LOW PROFILE PLATFORM

Engineering
Support Team:

Locations:
New York, NY

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: C Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (% 0.030") WITH TWELVE 2-7/8" ANTENNA MOUNTING Los Angeles, CA
DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES PIPES, AND SUPPORT RAIL : 1-888-753-7446  Plymouth, IN
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES A valmont Y COMMNY Dallas, TX
BENDS ARE * 1/2 DEGREE
o scLcorso voun ppsecomons | A et sons o)
- - ALL OTHER ASSEMBLY (# 0.060" - -
A |REPLACED HCP WITH X-AHCP 4488 | CEK| 7/14/2014 f 4 CLA‘::SSUB g{EAV':NG U::;/\ g:/ 2014 o R RMQP-4096-HK
REV DESCRIPTION OF REVISIONS CPD | BY DATE | THE DATAAND TEGH THIS DRAWING OF VALMONT e
REVISION HISTORY INDUSTRIES AND CONSIDERED A TRADE SECAET. ANY WiTHoUT or | 81| 02 CUSTOMER BMC RMQP-4096-HK

€40 ¢
39vd




